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B. Tech. Semester: VII (CE/IT) Engineering
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2CE703/ 2IT703 - DATA MINING & DATA WARE HOUSING

Time: 3 Hours] [Total Mar 0
Instruction: 1 Attempt all Questions.
2 Figures to the right indicate fuil marks of the question. &
3 Fach Section should be written in separate answer book. \
Section — I

Q.1

Q.1

Q.2

Q.2

Q.3

s

Explain star, snowflake and galaxy schemas with the help of suitablgdexamp 6
Also write DMQL for snowflake schema to define cube and its dimensio

Explain ROCK algorithm for clustering with the help of an examp 6 ‘
OR

What are the major challenges in data mining? 6
Explain DBSCAN algorithm for clustering with the help examﬂ. 6
Explain different approaches to mining multilevel a orules with the help of 6
suitable examples.
Explain Minkowski distance to measure dist een 2 objects. Also compute 5
distance measure for p=1 and p=2 for the fgllowing objects: X1=(2,3,5) and
X2=(4,2,7)
Explain various data transformdgion (el
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mmetric attributes, where True is more
ilarity measure and b) Jaccard coefficient.

For the above given obj
significant than False;

Explain various OLA ations performed on data cube with examples.

istance ﬁfmix apply agglomerative hierarchical clustering using:
a) Single-link mplete-link

¢l Blott s for the solutions to part a) and b).
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Q.4

Q4

Q.5

Q.5

Q.6
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Section - IT

Use the k-medoid algorithm to cluster the following 8 objects into three clusters.
X1=(2.5), X2=(2,10), X3=(8,4), X4=(5,8), X5=(7.5), X6=(6,4), X7=(4,9),
X8=(1,2).

Take initial clusters as X2, X4 and X8 and distance measure as Manhattan
distance.

1)Find final three clusters and their medoids formed after 2 iterations.

What are the various forms of data preprocessing? \

OR
Use the k-means algorithm to cluster the following 8 objects into thrge Clusters. 4
X1=(2,5), X2=(2,10), X3=(8,4), X4=(5,8). X5=(7.5), X6=(6.4), X7

X8=(1,2).

Take initial clusters as X2, X4 and X8 and distance measure idean distance. :

1)Find final three clusters and their centroids formed after 3 #erati

Differentiate between OLTP and CLAP. 4

Explain market basket analysis with the help of an e * 6

What are the various methods to fill inissing val e proeess of data cleaning? 5
OR

What are the various types of data used in rl ysis? 6

Explain Data warehouse and Data marti Wh the various features of data 5§

warehouse?

Given Minimum Support ¢ quent itemsets for the example given 6

below using FP-Growth aéo

Transaction | List
ID
T1
2
e

1,13,14,16}
20 {12,13,15,17}
00 (11,12,13,15,18}
(12,15,19,110}
500 {11,143
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